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THEX Sy« TH - FERI - HH50 H T B B G AT & | T (GEEM)
T b A B (B2 HLIA)
= 1 45, 082, 221
7 b HEFECE TR A0 5%
= 1 45, 082, 221
BSOS EERE (7 LA R — 1)
= 1 10, 173, 423
) ) AL B PLC
=) 3 2,692, 966 8,078, 898
AT AT Ay N"—H
=) 6 99, 739 598, 434
il FE
=) 3 498, 697 1, 496, 091
HnttEE (2> vy v — b
)
= 1 299, 217
AT LT A=K
=) 3 99, 739 299, 217
BB REEE (BUKRR M)
= 1 3,391, 141
) ) AL B PLC
=) 1 2,692, 966 2,692, 966
AT AT Ay N"—H
=) 2 99, 739 199, 478
il FE
=) 1 498, 697 498, 697
BEMRREEEE (i Sy 7)
= 1 3,391, 141
) ) AL B PLC
=) 1 2,692, 966 2,692, 966
-1- EhARimEs R AL A
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THEX Sy« TH - FERI - HH50 H T B B G AT & # T (GEEM)
AT 4T A N—H
=) 2 99, 739 199, 478
il FE
=) 1 498, 697 498, 697
A AL EE 1
= 1 17,953, 093
NEVAE S PLC
=) 1 3, 490, 882 3, 490, 882
TR PHLE PLC
=) 1 1,994, 789 1,994, 789
frkfr (1) 2R PLC
=) 1 1, 496, 092 1, 496, 092
PkAL (B FHAZEE PLC
=) 1 1, 496, 092 1, 496, 092
17 TR E PLC
=) 1 4,986, 974 4,986, 974
N TR 3 A PLC
=) 1 1,994, 789 1,994, 789
AT 4T A N—H
=) 19 99, 739 1, 895, 041
AR L AN HUB
=) 1 199, 478 199, 478
FEIRLAN HUB
=) 1 199, 478 199, 478
HIERL AN HUB
=) 1 199, 478 199, 478
=G FEEER (7 LA )
= 1 1, 496, 092
-2 - EhARimEs R AL A




N 2

it

£

THEX Sy« TH - FERI - HH50 b -4 T B B G AT & # T (GEEM)
1 7 FEALERES PLC
=) 1 1, 496, 092 1, 496, 092
wHFEEREE (2P y )
= 1 1, 496, 092
1% 7 FENALERES PLC
=) 1 1, 496, 092 1, 496, 092
=G5 PR ER (BUK - B - 2
)
= 1 1, 496, 092
15 7 FE LA PLC
=) 1 1, 496, 092 1, 496, 092
HHALAN
= 1 199, 478
EHALAN HUB
=) 1 199, 478 199, 478
WA TR E
= 1 5, 186, 452
TEHRA SR E 1 PLC
=) 1 2,593,226 2,593,226
THHRA DRt E 2 PLC
=) 1 2,593,226 2,593,226
Pias HLR R
= 1 45, 082, 221
b A
= 1 936, 639
B b M F G T A R L
= 1 818, 947
M REEERE (7 VA R — 1)
RE T
= 1 138, 852
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT & | T E (A5
A0 AL S ) e 168
= 1 18, 900 18, 900
A0 AL ) e 2 & HLABE
= 2 13, 225 26, 450
AT 4 T 3 N— Z R 168
= 1 10, 702 10, 702
AT 4T 3 R— Z YRR 2 & HEABE
= 5 7, 490 37, 450
) FEIU <) 7 168
= 1 18, 900 18, 900
) FEIUA <) 7 2 & HLABE
= 2 13, 225 26, 450
HnttEE (2> vy v — b
) RRE L
= 1 25, 682
AT 4 T 3 N— Z R 168
= 1 10, 702 10, 702
AT 4T 3 N— Z PR R 2 & HEABE
= 2 7, 490 14, 980
BEMRREEEE (BUKERME) s E L
= 1 55, 992
A0 AL S ) e 168
= 1 18, 900 18, 900
AT 4T 3 R— Z PR R 168
= 1 10, 702 10, 702
AT 4T 3 N— Z PR R 2 & HEABE
= 1 7, 490 7, 490
) FEU <) 7 168
= 1 18, 900 18, 900
-4 - EhARimEs R AL A
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT G| T E (A5
BEAMRREEEE (i L) BRiE
T
= 1 55, 992
A0 AL ) e 168
= 1 18, 900 18, 900
AT 4 T 3 N— Z R 168
= 1 10, 702 10, 702
AT 4T 3 R— Z YRR 2 & HEABE
= 1 7, 490 7, 490
) FEIU <) 7 168
= 1 18, 900 18, 900
AR AETE 1 B iE T
= 1 300, 421
NGRS ki
= 1 18, 900 18, 900
FEOR AL [ R A R
= 1 18, 900 18, 900
BrKAL (IE) FHAIZE E IR
= 1 18, 900 18, 900
i VA =D I B g R i
= 1 18, 900 18, 900
1% 7 TR B R E IR R
= 1 18, 900 18, 900
N B8 T K E R AT
= 1 18, 900 18, 900
AT 4 T 3 N— Z R 168
= 1 10, 702 10, 702
AT 4T 3 N— Z PR R 2 & HEABE
= 18 7, 490 134, 820
-5 - EhARimEs R AL A
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T E (A5
AH TR L A NPT R
= 1 13, 833 13,833
FEIR L ANYEAFRFE
= 1 13, 833 13,833
IR L A NYEAF R
= 1 13, 833 13,833
wHFEEREE (7 LR M) RE
T
= 1 18, 900
15 7 FE AL B PR A R R
= 1 18, 900 18, 900
WHFEHEREE (YY) &
[iEn
= 1 18, 900
1% 7 T B AL B PR AT R R
= 1 18, 900 18, 900
1G5 PR ER (BUK - B - 2
) FRE L
= 1 18, 900
1% 7 T B AL B PR A R R
= 1 18, 900 18, 900
EHRAL ANRE L
= 1 13,833
TR L A NYEAFRRTE
= 1 13, 833 13,833
AT RS S T
= 1 37, 800
AN TRALLEE 1 R
= 1 18, 900 18, 900
AN TRALLEE 2 R
= 1 18, 900 18, 900
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THEX Sy« TH - FERI - HH50 b -4 BT & G AT G| T (GEEM)
BSOS EERE (7 LA R — 1)
ET
= 28, 283
il FE AL BT AR 2 H
= 3,796 3, 796
il B LB i 2+
= 2, 657 5,314
AF 47 A R—a s B
= 2,203 2,203
AT 4 T avn_—2 ik
= 1,572 7, 860
A FER H
= 3,796 3, 796
A FE
= 2, 657 5,314
HnttEE (2> Yy v — L
) WET
= 5, 347
AF 47 arR—E s B
= 2,203 2,203
AT 4 T av_—2 ik
= 1,572 3, 144
BEMRREEEE (BUKRRME) kL
= 11, 367
Tl B LR i 2+
= 3,796 3, 796
AT 4 T av_—2 ik
= 2,203 2,203
AT 4 T avn_—2 ik
= 1,572 1,572
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT G| T (GEEM)
A FEI 168
= 1 3,796 3, 796
BMRREEEE (i v ) ik
T
= 1 11, 367
) AL BT AR 2 168
= 1 3,796 3, 796
AT 4T 3 R— Ak 1HH
= 1 2,203 2,203
AF 4T ar N —a2E 2 & HEABE
= 1 1,572 1,572
A FER 158
= 1 3,796 3, 796
AL PREEE 1 i T
= 1 57, 067
AN E R
= 1 3,796 3, 796
FORMBLE B R
= 1 3,796 3, 796
FkAL (1) FHAZEE R
= 1 3,796 3, 796
FrkAL (B FHAZEE R
= 1 3,796 3, 796
125 P ERE M S
= 1 3,796 3, 796
N8 T K E S
= 1 3,796 3, 796
AT 4T A R— 2 1HH
= 1 2,203 2,203
-8 - EhARimEs R AL A




HOflf =%

THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T (GEEM)
AF 4T ar N —r2E 2 & HLABE
= 18 1,572 28, 296
AHFIR L ANZE
= 1 1, 264 1, 264
FER L AN#HE
= 1 1, 264 1, 264
IR L AN
= 1 1, 264 1, 264
A FEEREE (7 LR M) ME
T
= 1 3, 796
1% 7 FENLELE i L
= 1 3,796 3, 796
wHFHEREE (2P y ) #i
E=
= 1 3, 796
1% 7 FENLELE L
= 1 3,796 3, 796
G PR ER (BUK - B - 2
) WEL
= 1 3, 796
1 7 FENLELE i L
= 1 3,796 3, 796
E#MAL ANKEL
= 1 1, 264
R L AN#HE
= 1 1, 264 1, 264
THEMA RS E R L T
= 1 7,592
AT FRAEEE 1 Mk
= 1 3,796 3, 796
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T (GEEM)
THMA T FRAEEE 2 ik
= 1 3,796 3, 796
T4 M e T
= 1 117, 692
ik T
= 1 117, 692
ik (AR
= 1 117, 692
B L
= 1 936, 639
B ST e ¢
= 1 119, 687
B ST ¢
= 1 20, 945
BUGERRYCER (5 1)
= 1 20, 945
MR R (B L)
= 1 98, 742
Wi
= 1 1, 056, 326
BTk X=giiv oy
= 1 458, 801
e
= 1 5, 440, 788
Hl e R
= 1 712,139
A s R
= 1 4,728, 649
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THEX Sy« TH - FERI - HH50 b -4 T B B G AT & G| T (GEEM)
R 5]
= 1 6,955, 915
— e
= 1 1,561, 864
T HAlik
= 1 53, 600, 000
THE B 2 %8
= 1 5, 360, 000
TG
= 1 58, 960, 000
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